Sr Questions Answers Choice

A. joints between skull bones
B. joints between vertebrae

. shoulder joints

. knee joints

1 The example of fixed joints is:

206
306
106
406

2 The number of bones in human skeleton is:

. cartilage
ligaments
bone
tendons

3 The hardes connective tissue of body is:

. shoulder joints

. knee and elbow joints

. arm and shoulder joints
. neck joints

4 The examples of hings joints are:
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A. calcium and phosphate minerals
are absent in the matrix of cartilage
B. The cells of cartilage are called
chondrocytes

C. blood veessels enter into cartilage
D. cartilage is less strong than bone

5 Which statements is not true about cartilage?

A. estrogen
. progesterone
. testosterone
oxytocin

6 In man which hormone is responsible for the development of secondary sex characters:

insulin
thyroxin
parathormone
epinephrine

7 The deficiency of which hormone cause goitre?

glucagon
insulin
vesoporession
epineophrine

8 The hormone which increase the rate of reabsorption of water form nephorn is:

pinna
eardrum
vesitbule
cochlea

9 Sound receptor cells are present in:

110
120
130
150

10 How many diseases of eyes were described by Ali Ibn Isa in his books?

rods

cones
neurons

. both Aand B

11 In retina the photosensitive cells are:

sclera

. choroid
retina

. iris

12 The sensitive layer of eye is:
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